MONTAGEANLEITUNG

Artikelnummer: N634P254853W/N634P254854W/N634P254855W
N634P254846\W/N634P254847\W/N634P254848W

Dieses Set ist in 3 Boxen enthalten. Wenn Sie keine vollen 3 Boxen erhalten,
wenden Sie sich bitte an unseren Kundenservice

Bett 200x160cm/200x180cm

@ Instrucdes de utilizacdo MHCTPYKUMA MO MOHTaXy
@ Pokyny k pouzitiu Kullanim talimatlari




IMPORTANT ! KEEP FOR FUTURE REFERENCE : READ CAREFULLY

-

'," To be assembled by an adult. Assembly must be checked by an adult before use

* WARNING ! Keep all screws, small parts and plastic bags out of the reach of children

* Properly identify all parts before assembling

* Never use your item if any of its parts are broken or missing

= Should any problems arise, please contact our After Sales Service

= Manufacturer's instructions shall be followed at all times

= Care: Clean with a soft, dry cloth. In case of larger stains, carefully rub with a slightly damp, non-

abrasive sponge

* Avoid the risk of fire by not placing furniture near sources of ignition or hot items

A}

¢ Do not jump on the bed

WICHTIG ! ZUM SPATEREN NACHSCHLAGEN AUFBEWAHREN: SORGFALTIG LESEN

- -
-
..\\
hY
A Y

A
A
1
1

-

’,"'" Muss von einem Erwachsenen zusammengebaut werden.Der Zusammenbau muss vor dem Gebrauch
! von einem Erwachsenen tberprift werden

= WARNUNG! Bewahren Sie alle Schrauben, Kleinteile und Plastikbeutel auerhalb der Reichweite von
Kindern auf

* Kennzeichnen Sie vor dem Zusammenbau alle Teile richtig

* Benutzen Sie lhren Artikel niemals, wenn Teile gebrochen sind oder fehlen

* Sollten Probleme auftreten, wenden Sie sich bitte an unseren Kundendienst

= Die Anweisungen des Herstellers sind stets zu befolgen

= Pflege: Mit einem weichen, trockenen Tuch reinigen. Bei groRBeren Flecken vorsichtig mit einem leicht
feuchten, nicht scheuernden Schwamm abreiben. nicht scheuernden Schwamm

» Vermeiden Sie die Gefahr eines Brandes, indem Sie die Mdbel nicht in der Nahe von Zlindquellen oder

1
Al
A}

‘\:‘ Nicht auf das Bett springen

heiBen Gegenstanden aufstellen

e

’,"" Le montage doit étre effectué par un adulte. Le montage doit étre vérifié par un adulte avant

.

Utilisation

= ATTENTION ! Tenir les vis, les petites picces et les sachets en plastique hors de porté¢e des enfants

* |dentifiez correctement toutes les pi¢ces avant de les assembler

* N'utilisez jamais votre article si I'une de ses pi¢ces est cassée ou manguante

* En cas de probléme, veuillez contacter notre service aprés-vente

* Les instructions du fabricant doivent étre respectées d tout moment

* Entretien : nettoyer avec un chiffon doux et sec. En cas de taches plus importantes, frotter
soigneusement avec une éponge non abrasive légérement humide. légérement humide et non
Abrasive

- Evitez les risques d'incendie en ne plagant pas les meubles & proximit¢ de sources d'inflammation

. ou d'objets chauds

‘\:‘ Ne pas sauter sur le lit

---------------------------------------




IMPORTANTE! CONSERVARE PER RIFERIMENTO FUTURO: LEGGERE ATTENTAMENTE

R R S S S e b e e e e e e e R B P -
s S
F S

4 = o ALY
¢ * Deve essere assemblato da un adulto. L'assemblaggio deve essere controllato da un adulto primadell'uso %

-

» ATTENZIONE! Tenere tutte le viti, le piccole parti e i sacchetti di plastica fuori dalla portata dei bambini

* Identificare correttamente tutte le parti prima dell'assemblaggio

* Non utilizzare mai l'articolo se alcune parti sono rotte o mancanti

= In caso di problemi, si prega di contattare il nostro Servizio Post Vendita

= Le istruzioni del produttore devono essere sempre seguite

* Cura: Pulire con un panno morbido e asciutto. In caso di macchie pitt estese, strofinare accuratamente con
una spugna leggermente umida e nonspugna leggermente umida e non abrasiva

* Evitare il rischio di incendio, non collocando i mobili vicino a fonti di accensione o a oggetti caldi

o

-

\.* Non saltare sul letto /;

i IMPORTANTE ! CONSERVELO PARA FUTURAS CONSULTAS: LEA ATENTAMENTE

- S,
- ~
* ~,

,": Debe ser montado por un adulto. El montaje debe ser comprobado por un adulto antes del uso \
" ADVERTENCIA Mantenga todos los tornillos, piezas pequefas y bolsas de plastico fuera del alcance de los nifios.
* |dentifique correctamente todas las piezas antes de montarlas
* Nunca utilice su arti culo si alguna de sus piezas esta rota o falta
= Si surge algtn problema, pongase en contacto con nuestro Servicio Postventa

= Las instrucciones del fabricante deben seguirse en todo momento

* Cuidado: Limpiar con un pafio suave y seco. En caso de manchas mas grandes, frote cuidadosamente con una
esponja no abrasiva ligeramente humedecida.

* Evite el riesgo de incendio no colocando los muebles cerca de fuentes de ignicidn u objetos calientes.

\,* No saltar sobre la cama. /

_____________




Stuckliste

4/32



Part List N634P254853W/N634P254846W

®

X1

5/32




Part List N634P254854W/N634P254847W

22) X1

37) X2

(9)x2

a7) x2

25 X1

39) X1

(3)x2

38) X1

6/32



Part List N634P254855W/N634P254848W

26) X1

27) X1

28 X1

7/32




Hardware List N634P254854W/N634P254847W

8/32

Ax12 B x22 C x24 D x4 E x10
(. i ! R ; | R
M8X12 M8X16 M8X30 M8X35 M8X40
F x17 G x4 H x2 I x12 J x30
| MR | OB e e | e——
M8X55 M8X65 ST3X12 ST4X12 M5X40
L x49 M x49 N x8 i O x16
ISr—} & e .
d7*40 ®15*10 D6*30
Q x1 R x1
</ 7
M8 &



F Don't tighten the screw
Schrauben nicht anziehen
Ne serrez pas les vis

Non stringere le viti

No apriete los tornillos

B x4

M8X16 M8X55

9/32



B x4 F x4 Don't tighten the screw
. Schrauben nicht anziehen
@. — Ne serrez pas les vis
M8X16 M8X55 Non stringere le viti

No apriete los tornillos

e Tighten all the screws
m Alle Schrauben anziehen
E'J‘ Tous serrer les vis
M8X 16 Stringere tutte le viti
Apriete todos los tornillos

10/32



11/32



12/32



Cx14

VTR

M8X30

10

M8X12

13/32



\ USING CAM LOCK AND QUICKFIT

=
EN_QUICKFIT:Tighten quickfit until shoulder is flush with panel.Do not overtighten or
undertighten.
FR_RACCORD RAPIDE:Faites serrer le raccord rapide jusqu'a ce que I'épaulement soit
parfaitement encastré dans le panneau. |l ne faut ni trop serrer ni insuffisamment serrer.
ES_QUICKFIT:Apriete quickfit hasta que el hombre se descargue con el panel. NO lo
sobreapriete nilo apriete poco.
DE_QUICKFIT:Ziehen Sie den Quickfit fest, bis die Schulter mit der Platte biindig ist.
Bitte nicht zu fest oder zu schwach anziehen.
IT_MONTAGGIO RAPIDO:Stringere il montaggio rapido fino a quando la spalla € a filo
can il pannello, non stringere troppo o troppo poco.

® || ®
v 1 :

EN_CAM LOCK:When fitting cam lock, ensure starting position is correct before you
insert connecting quickfit.

FR_SERRURE BATTEUSE:Avantd'insérerla serrure batteuse, veillez a la bonne
orientation avantd'insérer le raccord rapide.

ES_CIERRE DE LA CAMARA:Cuando instale el cierre de la camara, asegulrese de que la
posicion de inicio es correcta antes de que inserte el quickfit conector.
DE_CAM-LOCK:Achten Sie bei der Montage des Cam-Locks auf die richtige
Ausgangsposition, bevor Sie den Quickfit einsetzen.

IT_BLOCCAGGIO ACAMMA:Quando si monta il bloccaggio a camma, assicurarsi che la
posizione iniziale sia corretta prima di inserire il montaggio rapido di collegamento.

EN_Quickfit head should be in the centre of the cam lock when the
two panels are joined.

Cam lock should be inserted before quickfit.

FR_Lorsque les deux panneaux sont assemblés, la téte du
raccord rapide doitreposer au centre de la serrure batteuse.

Il fautinsérer la serrure batteuse avant le raccord rapide.

ES_EIl cabezal del quickfit debe estar en el centro del cierre de la
camara cuando se unan los dos paneles.

Se debeinsertar el cierre de la camara antes que el quickfit.
DE_Der Quickfit-Kopf sollte sich in der Mitte des Cam-Locks
befinden, wenn die beiden Platten zusammengefligt sind.

Der Cam-Lock sollte vor dem Quickfit eingesetzt werden.
IT_Latesta del montaggio rapido deve trovarsi al centro del
bloccaggio a camma quando i due pannelli sono uniti.

[l Bloccaggio a Camma deve essere inserito prima del montaggio
rapido.

EN_Turn cam lock clockwise to tighten.
FR_Faites tourner la serrure batteuse dans le sens des aiguilles
d'une montre pour la resserrer.
ES_Gire el cierre de la camara en sentido horario para apretarlo.
% DE_Drehen Sie den Cam-Lock im Uhrzeigersinn, um ihn
festzuziehen.
IT_Ruotare il bloccaggio a camma in senso orario per stringere.

14/32




®15*10

16/32



13

14

16/32



17/32



17

M x4
&
®15*10




19

o Don't tighten the screw
| ERERIESER ‘ Schrauben nicht anziehen
B Ne serrez pas les vis

Non stringere le viti

No apriete los tornillos

20

Don't tighten the screw
Schrauben nicht anziehen
- Ne serrez pas les vis
,n Non stringere le viti

No apriete los tornillos

M8X16

19/32



L x13

OB
7740

20/32



ra

RS
% \\\

23

[v2]
(o)

Op
®15*10

M x4

J x6
| AR
M5X40

24

21/32



Dy

40

C x2

) R

M8X30

D x4

M8X35

22/32

39, °

Tighten all the screws
Alle Schrauben anziehen
Tous serrer les vis
Stringere tutte le viti
Apriete todos los tornillos



M x4
@S}

e

®15*10

23/32



29

M x6

Op

®15*10

30

J X6

M5X40




31

L x10
=M

$®7*40

32

25/32




: A of | :
M5X40 Jo













41

Tear double-sided adhesive tape apar
Zerreil das band

Déchirer la bande double face
Strappamento del nasfro adesivo

S S— = 7
/ v /

Rasgar cinta doble cara
ilﬂ
T L‘ - | -
g é
43
| x4
&
ST4X12







_— e e e e e e e e e e e e e e e e e e e = = =



GB-
DE -
FR -
IT -
ES -

NOTE: The battervn the remote control requires you to purchase and install it yourself.
Model: CR2025 3

HINWEIS: Die Batterie in der Fernbedienung missen Sie selbst kaufen und installieren
Modell: CR2025 3.V

REMARQUE : El|e de la télécommande doit étre achetée et installée par vos soins.
~ Modéle : CR202

NOTA: la batteria del telecomando deve essere acquistata e installata autonomamente.
~ Modello: CR2025 3.V

NOTA: La pila del mando a distancia debe comprarla e instalarla usted mismo
Modelo CR2025 3.V

Modell : CR2025 3.V




—
=
LL
—
-
-
LL
-
LL]
—
<C
-
LL
—
o
LL]
-

CABLEYEK

Certificate of Conformity

Applicant : Shenzhen Penglixiang Electronics Co., LTD

Certificate No.: CBT230825123EC

7th Floor, No.7 Lane 4, Zone 3,Gushu Haibin New Village, Xixiang,
Bao ‘an District, Shenzhen

Manufacturer : Shenzhen Penglixiang Electronics Co,, LTD

7th Floor, No.7 Lane 4, Zone 3,Gushu Haibin New Village, Xixiang,
Bao ‘an District, Shenzhen

Product :  Multifunctional LED mirror clock

Model(s) : PLX-A228
Trademark : N/A

Test Standard : EN 55032:2015+A11:2020+ A1:2020
EN 55035:2017+A11:2020
EN IEC 61000-3-2:2019+A1:2021
EN 61000-3-3:2013+A2:2021+AC:2022-01

The Certificate of Conformity is based on an evaluation of a sample of the above mentioned
products. It does not imply an assessment of the whole production. It is possible to use CE
marking to demonstrate the compliance with this EMC Directive 2014/30/EU. It is only valid
in connection with the test report number: CBT230825123ER.

Shenzhen CABLETEK Compliance Laboratory Limited
East 02, 6th Floor, Building 3, Zhouteng Industrial Zone, Shanglilang
Community, Nanwan Street, Longgang District, Shenzhen

Tel: 400 666 1146 E-mail:cbt@cabletek.cn Web: www.cabletek.cn



>.
—
——
o
o
LL
—
-
-
LL
-
LLl
-
<
O
LL
—
0
LL]
-

Certificate No.: CBT230825123RC c A B L 1 l-
Certificate of Conformity

Applicant : Shenzhen Penglixiang Electronics Co., LTD

7th Floor, No.7 Lane 4, Zone 3,Gushu Haibin New Village, Xixiang,
Bao ‘an District, Shenzhen

Manufacturer : Shenzhen Penglixiang Electronics Co., LTD

7th Floor, No.7,Lane 4, Zone 3,Gushu Haibin New Village, Xixiang,
Bao 'an District, Shenzhen

Product :  Multifunctional LED mirror clock
Model(s) : PLX-A228
Trademark : NIA

Test Standard : |EC 62321-1:2013, IEC 62321-4:2013+A1:2017, IEC 62321-5:2013,
IEC 62321-6:2015, IEC 62321-7-1:2015, IEC 62321-7-2:2017,
IEC 62321-8:2017

The EUT described above has been consolidated by us and found in compliance with the
council RoHS directive—2011/65/EU Annex Il (EU) 2015/863 as last amended by Directive
(EU) 2017/2102. It is only valid in connection with the test report number: CBT230825123RR.

RoHS

Shenzhen CABLETEK Compliance Laboratory Limited
East 02, 6th Floor, Building 3, Zhouteng Industrial Zone, Shanglilang
Community, Nanwan Street, Longgang District, Shenzhen

Tel: 400 666 1146 E-mail:cbt@cabletek.cn Web: www.cabletek.cn



Shenzhen ETR Standard Technology Co., Ltd.

No.103, No.10, Phase |, Zone 3, Xinxing Industrial Park, Xinhe, Fuhai Street,
Bao'an District, Shenzhen, Guangdong, China
Tel: +86-755-85259392 Email: etr800@etrtest.com http://www.etrlab.cn

Attestation of Compliance

No.: ET-25010024CC

Applicant : Dongguan STTEAM Technology Co.,Ltd
Address : No.605, Diwang Square, Chang'an Town, Dongguan City,China
Manufacturer : Dongguan STTEAM Technology Co.,Ltd
Address : No.605, Diwang Square, Chang'an Town, Dongguan City,China
Product : LED light strip set
ST700,ST700A, ST700B, ST700C, ST700D, ST700E, ST700F. ST700G, ST700H,

Modeke) ST700I
Trade Mark : N/A

Test Standards:

IEC 62321-1:2013, IEC 62321-2:2021,
IEC 62321-3-1:2013, IEC 62321-5:2013,
IEC 62321-4:2013+AMD1:2017 CSV,
IEC 62321-6:2015, IEC 62321-7-1:2015,
IEC 62321-7-2:2017, IEC 62321-8:2017

The submitted products have been tested by us with the listed standards.

This attestation of compliance is issued according to the council directive 201 1/65/EU and

its amendment directives (EU) 2015/863. It confirms that the listed product complies with all essential
requirements of the RoHS directive and applies only to the sample and its technical documentation submitted to
Shenzhen ETR Compliance Testing Laboratory Ltd. for testing.

After preparation of the necessary technical documentation as well as the EC conformity declaration the
required CE marking can be affixed on the product. Other relevant directives have to be observed.

The certificate applies to the tested sample above mentioned only and shall not imply an assessment of the
whole production. It is only valid in connection with the test report number; ET-25010024C .

RoHS




CTA
CERTIFICATE OF COMPLIANCE

Directives: 2014/53/EU
Certification number: CTE241226011
Issued date: Jan. 04, 2025

Applicant: Dongguan STTEAM Technology Co.,Ltd

No.605, Diwang Square, Chang'an Town, Dongguan City, China
Manufacturer: Dongguan STTEAM Technology Co.,Ltd

No.605, Diwang Square, Chang'an Town, Dongguan City, China
EUT Name: Audio Atmosphere Light Kit
Trade Mark: N/A

Model number:  ST501, ST501A, ST501B, ST501C, ST501D, ST501E, ST501F, ST501G, ST501H,
ST5011

Laboratory: Shenzhen CTA Testing Technology Co., Ltd.
Room 106, Building 1, Yibaolai Industrial Park, Qiaotou Community, Fuhai Street,
Bao'an District, Shenzhen, China

In accordance with the following Applicable Directives: 2014/53/EU RED DIRECTIVE

The equipment, as described herewith, was tested pursuant to applicable test procedure and complies
with the requirements of:

Requirement Applied Standards Test Report No. Result

Radio ETSI EN 300 328 V2.2.2 (2019-07) CTA24122601101 | Conform

ETSI EN 301 489-1 vV2.2.3 (2019-11)

ETSIEN 301 489-17 V3.3.1 (2024-09)

EN 55032:2015+A11:2020/EN 55035:2017+A11:2020 CTA24122601102
EN IEC 61000-3-2:2019/A2:2024

EN 61000-3-3:2013/A2:2021/AC 2022

Health EN IEC 62311:2020 CTA24122601103

Safety EN IEC 62368-1:2020+A11:2020 CTA24122601104

The test results are traceable to the international or national standards.

Note: The verification is only valid for the equipment and configurationdescribed ,in conjunction with
the test data detailed above

The CE mark as shown beside can be used ,under theresponsibility of the manufacturer, after completion
ofan EC Directive ofConformity and compliance with all relevant EC Directive,

Authorized by:

——a
ShenzhewEEALesting Technology Co., Ltd.

Room 106, Building 1, Yibaolai Industnal Park, Qiaotou Community, Fuhai Street, Baoan District, Shenzhen, China

Tel:+86-755 2322 5875 E-mail:cta@cta-test.cn Web:http://www.cta-test.cn




Y ™C

Verification of Compliance

i compliance

Verification No.: MK24100179P01-E01
= Name and address of Dongguan STTEAM Technology Co. Ltd
Applicant: No.605, Diwang Square, Chang'an Town, Dongguan City,China
g Name and address of Dongguan STTEAM Technology Co. Ltd
o ord Manufacturer No.605, Diwang Square, Chang'an Town, Dongguan City,China
&
< Product name: Controller ambient light
= Input:5v— 3A
— Rated: 2
& Output:5V— 3A
-~ ST201, ST201A, ST201B, ST201C, ST201D, ST201E, ST201F, ST201G,
o/ Product model(s):
ST201H
Product trademark: N/A

This verification confirms that the product meets the requirements of the following standard.
The conformity was demonstrated based on following standard(s) listed by European Commission as
harmonized with EMC Directive 2014/30/EU.

EN IEC 55015:2019+A11:2020

EN IEC 61547:2023
The verification has been carried out in accordance with individual rules and conditions agreed with the
applicant. Evaluation has been camied out in accordance with:

Test report(s) No.: MK24100179P01-E01

Test conducted by: TMC Testing Services (Shenzhen) Co., Ltd.
Verification issue date: October 31, 2024

Notes:

This verification refers to the above mentioned product and its conformity in regards of above
mentioned standard(s) was proven on test sample.

This verification does not imply meeting all essential requirements, assessment of the
series-production or any other restricted Notified Bodies conformity assessment procedure
appropriate for the product.

This verification holder shall use this vernfication in connection to venfication of conformity and
technical data relevant for the product the vernfication was issued.

TMC Testing Services (Shenzhen) Co,, Ltd.

1:86-755-86642861 cert@tmc-lab.com www.tme-lab.com

1st Floor, Block A1, Zone A, Xinshidai Gongrong Industrial Park, No. 2, Shihuan Road, Shiyan Street,
Baoan District, Shenzhen, China

—
L
pa—
—
S
- p—
S—
ps
”
—
p—
=
L
L
o
(—
—
o
. f—
e
o
=3
—
pay
<~
"J
v
L
p—
—
<
- p—
C—
’h.
—
—
—
=
L
U
o
—
—
o
- —
—
o
=
—
p 43
=
e

~




